

Squaring the polynomial $(-3x - 15)$:

Squaring the polynomial $(-3x - 15)$:

$$(-3x - 15)^2 = (-3x - 15) \cdot (-3x - 15)$$

Squaring the polynomial $(-3x - 15)$:

$$\begin{aligned}(-3x - 15)^2 &= (-3x - 15) \cdot (-3x - 15) \\ &= 9x^2\end{aligned}$$

Squaring the polynomial $(-3x - 15)$:

$$\begin{aligned}(-3x - 15)^2 &= (-3x - 15) \cdot (-3x - 15) \\ &= 9x^2 + 45x\end{aligned}$$

Squaring the polynomial $(-3x - 15)$:

$$\begin{aligned}(-3x - 15)^2 &= (-3x - 15) \cdot (-3x - 15) \\ &= 9x^2 + 45x + 45x\end{aligned}$$

Squaring the polynomial $(-3x - 15)$:

$$\begin{aligned}(-3x - 15)^2 &= (-3x - 15) \cdot (-3x - 15) \\ &= 9x^2 + 45x + 45x + 225\end{aligned}$$

Squaring the polynomial $(-3x - 15)$:

$$\begin{aligned}(-3x - 15)^2 &= (-3x - 15) \cdot (-3x - 15) \\ &= 9x^2 + 45x + 45x + 225\end{aligned}$$

Squaring the polynomial $(-3x - 15)$:

$$\begin{aligned}(-3x - 15)^2 &= (-3x - 15) \cdot (-3x - 15) \\ &= 9x^2 + 45x + 45x + 225 \\ &= 9x^2 + 90x + 225\end{aligned}$$